UGC NET 2022 INDIAN CULTURE

Topic:- 050_PARTA_S2

1)
She wrote articles-about women, Her book publishied in 1882 is considered the first feminist book

in India. She is:

1. Pandita Ramabai
2, Dr. Rukhmabai
3., Tarabai Shinde
4 Savitribai Phule
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1. GSarIEEE
2. 3. TEAER
3, TRETS RiE
4, gifeAl 918 Bad

[Question ID = 4524][Question Description = 101_50_INC_SEP22_S2_QO01]
1. 1 [Option ID = 18093]
2. 2 [Option ID = 18094]
3. 3 [Option ID = 18095]
4. 4 [Option ID = 18096]

2)
The basic source of content of Kiratarjuniyama'

1. Ramayana

2, Mahabharata
3. Darshana

4, Upanishad

T & SUIE & SMURHEIT 8 :

1. THEY
2. g
3,53

4, 3uHYg

[Question ID = 4525][Question Description = 102_50_INC_SEP22_S2_Q02]
1. 1 [Option ID = 18097]
2. 2 [Option ID = 18098]
3. 3 [Option ID = 18099]
4. 4 [Option ID = 18100]



3)
The author of Buddhacharitam is:

1. Kalidasa

2. Bhavbhuti

3, Dandi

4, Ashwaghosh

GGG P OED & ;

1. @Teay
2, Hada
3. 508!

4. 3uEY

[Question ID = 4526][Question Description = 103_50_INC_SEP22_S2_Q03]
1. 1 [Option ID = 18101]
2. 2 [Option ID = 18102]
3. 3 [Option ID = 18103]
4. 4 [Option ID = 18104]

4)
‘Vidyayamrutamashnute' statement is from which Upanishad-

1. Ishopanishad

2. Kenopanishad

3, Kathopanishad
4, Prashnopanishad

THagisganyq fog Sufug drag- 5

1. 3G
2, FUATg
3. HaUEG
4, JHOiYg

[Question ID = 4527][Question Description = 104_50_INC_SEP22_S2_Q04]
1. 1 [Option ID = 18105]
2. 2 [Option ID = 18106]
3. 3 [Option ID = 18107]
4. 4 [Option ID = 18108]

5)
Who was the author of Tazkiraye-Humayun-wa-Akbar

1. Jauhar Aftabachi
2. Khwafi Khan

3, Badauni

4, Bayzid Bayat



AR - §AY G HDET B (@ BT 41 ?

1. SiEx STwaEd]
2, T EH

3, §aEHl

4, 9199l €91

[Question ID = 4528][Question Description = 105_50_INC_SEP22_S2_QO05]
1 [Option ID = 18109]
2 [Option ID = 18110]
3 [Option ID = 18111]
4 [Option ID = 18112]

A w N =

6)
Who ameng the following is credited with the discovery of first Mesalithic cultural site in India?

1. N. G. Mazumdar
2. H. D. Sankaliya

3. Amalanand Ghosh
4, B.B.lal

YId H T RTINS0 SR SEE & TuH (R $1 9g9H &1 40 [ Sl g 2

1. . Sl A9HER
2.4, 81, giceicAl
3, AdHG 9N
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[Question ID = 4529][Question Description = 106_50_INC_SEP22_S2_Q06]
1 [Option ID = 18113]
2 [Option ID = 18114]
3 [Option ID = 18115]
4 [Option ID = 18116]

A w N =

7)
Which of the following is not a Lower Paleolithic site of Rajasthan?

1. Basenagar
2. Singi Talav
3. Didvana
4, Jayal

A U B U S 7 RS R A6 © ;

1. §9TR
2, Tl oema
3. fgsamr
4, Sl

[Question ID = 4530][Question Description = 107_50_INC_SEP22_S2_Q07]
1 [Option ID = 18117]
2 [Option ID = 18118]
3 [Option ID = 18119]
4 [Option ID = 18120]

A w N =



8)
Which of the follewing is used in the ‘Beads' discovered from Harappan sites: like Shortughai,

Harappan etc.?

1. Lapis Lazuli
2, Lime

3. Granite

4 Quartzite

TTe, B G eowid Rya! U Ui Auie! H [T UanT oe- o e e 7
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2.9
3. YARE
4, TICWIES

[Question ID = 4531][Question Description = 108_50_INC_SEP22_S2_Q08]
1. 1 [Option ID = 18121]
2. 2 [Option ID = 18122]
3. 3 [Option ID = 18123]
4. 4 [Option ID = 18124]

9)
In Sangam Age, the spy of the king was called-

1. Kanat
2, Orrar
3. Kanar
4 Orub
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1.5
2, 3RR
3. R
4, %8

[Question ID = 4532][Question Description = 109_50_INC_SEP22_S2_Q09]
1. 1 [Option ID = 18125]
2. 2 [Option ID = 18126]
3. 3 [Option ID = 18127]
4. 4 [Option ID = 18128]

10)
Whe ameng the follewing first coined the term Northern Black Polished Wave (NBPW)?

1. Martimar Wheelar and Krishnadev

2, John Marshall and Alexander Cunningham
3. K. N. Dixit

4 B.B.lal
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1. AT BTN Ud $EIed
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[Question ID = 4533][Question Description = 110_50_INC_SEP22_S2_Q10]
1 [Option ID = 18129]
2 [Option ID = 18130]
3 [Option ID = 18131]
4 [Option ID = 18132]

A w N =

11)
In 1882, the centre of Theoscphical Society was established at the following place in India?

1. Bembay
2, Calcutta
3. Madras
4, Hyderabad

1982 & [giaiisma Giarse] @ ©g HRd 3 F9 ®IF 9T ®1iud o1 741

I
2, shciddl
3, Az
4, BEXEIG

[Question ID = 4534][Question Description = 111_50_INC_SEP22_S2_Q11]
1 [Option ID = 18133]
2 [Option ID = 18134]
3 [Option ID = 18135]
4 [Option ID = 18136]

A w N =

12)
Which monthly magazine was started by Bankimchandra Chattopadhyay in 18827

1. Bangadarshan
2, Manorama

3. Vichar Lahiri
4 Sudhoevani

sftrres TSI gRI &1 9 71ibe uiEer 1882 H 9% @ 1 2

1. 87759
2, 5 RE]
3, far aifest
4. gefar

[Question ID = 4535][Question Description = 112_50_INC_SEP22_S2_Q12]
1. 1 [Option ID = 18137]
2. 2 [Option ID = 18138]
3. 3 [Option ID = 18139]
4. 4 [Option ID = 18140]



13)
Nimbalkar, Ghatke, Deshmukh are associated with-

1. Zamindari

2, Army

3. Income Tax Department
4, Arms manufacturing

e, 9es, cYHE (o9 ¥ gEAd 6 ?

1. FHHGRT
2,84

3. @ faHAT
4, 3% (A7

[Question ID = 4536][Question Description = 113_50_INC_SEP22_S2_Q13]

1. 1 [Option ID = 18141]
2. 2 [Option ID = 18142]
3. 3 [Option ID = 18143]
4. 4 [Option ID = 18144]

14)
Famous traveler [bn Batuta camie to India during whose rule?

1. Balban

2, Akbar

3, Allauddin Khilji

4, Muhammad Tuglag

Titig Tdes g9-aqd] e R H HIRd 1] 2

-GGE]
2, FPal

3. EI3e - Al
4, HEHE QUO®

[Question ID = 4537][Question Description = 114_50_INC_SEP22_S2_Q14]

1. 1 [Option ID = 18145]
2. 2 [Option ID = 18146]
3. 3 [Option ID = 18147]
4. 4 [Option ID = 18148]

15)
Who is the author of the book Indig Divided?

1. Mahatma Gandhi

2. Subhkash Chandra Bose
3. Jawaharlal Nehru

4. Dr. Rajendra Prasad



o T 4 g < feasss Tme owe fodl § 2
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[Question ID = 4538][Question Description = 115_50_INC_SEP22_S2_Q15]
1 [Option ID = 18149]
2 [Option ID = 18150]
3 [Option ID = 18151]
4 [Option ID = 18152]

A w N =

16)
Whio ameng the follewing translated Urdu poems into English:-

1. Victor Kerannen
2, A, Fitzgerald

3, William Jones
4 Edward Brown

iR # § 6w g iaael © s a5

1. faET meA
2.T, fheeRies
3, fafemm s
4, USES glad

[Question ID = 4539][Question Description = 116_50_INC_SEP22_S2_Q16]
1 [Option ID = 18153]
2 [Option ID = 18154]
3 [Option ID = 18155]
4 [Option ID = 18156]

A w N =

17)
Whio is the writer of the famous published book Stone Age Paintings in India ?

1. Yashodhara Mathapal

2,V. 5. Vakankar and R, R. Brocks
3.B.B. Lal

4, Carlyle

OTETO A fem e 9% UaTRid Uik $%® ' Stone Age Paintaings in India' & 0ig® ®19 5 7
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4, BEEA

[Question ID = 4540][Question Description = 117_50_INC_SEP22_S2_Q17]
1. 1 [Option ID = 18157]
2. 2 [Option ID = 18158]
3. 3 [Option ID = 18159]
4. 4 [Option ID = 18160]



18)
There were seme treaties during the British-Maratha Wars, Which one is the odd one out?

1. Treaty of Purandar, 1776
2, Treaty of Basin, 1802

3, Treaty of Pune, 1817

4, Treaty of Mangalore, 1784

HIG-TR13] GGl @ w4 gs 411 9 H 9 2 9y 9dzd]

1. O3 @l 9, 1776

2, 94 3 9, 1802

3, gAT®I O, 1817

4, HTaR &1 9, 1784

[Question ID = 4541][Question Description = 118_50_INC_SEP22_S2_Q18]

1. 1 [Option ID = 18161]
2. 2 [Option ID = 18162]
3. 3 [Option ID = 18163]
4. 4 [Option ID = 18164]

19)
Select the correct pair from the following:-

1. lgta-Khat

2, Paragana-Amil
3, Gaon-Wali

4, Chaurasi-Mugti

Fafoea 44 g8l As1 24
1. 991 - &Ed
2, GOl - H1Ed
3.7fq - arefl
4. AR - gl

[Question ID = 4542][Question Description = 119_50_INC_SEP22_S2_Q19]
1. 1 [Option ID = 18165]
2. 2 [Option ID = 18166]
3. 3 [Option ID = 18167]
4. 4 [Option ID = 18168]

20)
Which empire among the following does not belong to Sangam Age?

1. Cher

2, Pallav
3, Chala
4, Pandya
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1.3R

2. 94
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[Question ID = 4543][Question Description = 120_50_INC_SEP22_S2_Q20]
1 [Option ID = 18169]
2 [Option ID = 18170]
3 [Option ID = 18171]
4 [Option ID = 18172]

A w N =

21)
Whio is the author of Astanghridayam?

1. Charak

2. Sushrut
3. Vagbhatta
4, Patanjali

HPTFEEaT BIIHBR AT 7

1.TR®
2,944
3, 37T
4, gagid

[Question ID = 4544][Question Description = 121_50_INC_SEP22_S2_Q21]
1. 1 [Option ID = 18173]
2. 2 [Option ID = 18174]
3. 3 [Option ID = 18175]
4. 4 [Option ID = 18176]

22)

Which of the fallowing is a commentary written in Sanskrit on Kemasutra?
1. Tattvabodhini

2, Kandarpa Chudamani

3. Bhav Prakash

4. Mitakshara

HefifTRed o I DIYA & 9% fadad 4 oid] P 6 7

1, T
2, HRUgSHE

3, YAy
4, THamer

[Question ID = 4545][Question Description = 122_50_INC_SEP22_S2_Q22]
1. 1 [Option ID = 18177]
2. 2 [Option ID = 18178]
3. 3 [Option ID = 18179]
4. 4 [Option ID = 18180]



23)
Who was the first to develop pictures of the Khajuraho-temples?

1. T. 5. Burt

2.F. C. Maisey
3,A.C L Carlyle
4.V A Smith

Tl & Hi-aY @ gauyd fE fead gar fea 2
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2. T, O, A9

3. T 9. 0q. @ad
4,491 T &Yy

[Question ID = 4546][Question Description = 123_50_INC_SEP22_S2_Q23]
1. 1 [Option ID = 18181]
2. 2 [Option ID = 18182]
3. 3 [Option ID = 18183]
4. 4 [Option ID = 18184]

24)
Whio ameng the following Europeans came first in India?

1. Dutch
2, British
3. Portuguese
4, French

7 TR © Sduys 4R @14 3/ 4 7

1.9
zl -y
4, WRIGRT

[Question ID = 4547][Question Description = 124_50_INC_SEP22_S2_Q24]
1. 1 [Option ID = 18185]
2. 2 [Option ID = 18186]
3. 3 [Option ID = 18187]
4. 4 [Option ID = 18188]

25)
Whio published the Discovery of Rock=Paintings by Carlyle in 1906 in "Indian Antiquary”?

1. V. & Smith

2, Archer

3. lohn Marshal

4, Alexander Cunningham
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[Question ID = 4548][Question Description = 125_50_INC_SEP22_S2_Q25]

A w N =

1 [Option ID = 18189]
2 [Option ID = 18190]
3 [Option ID = 18191]
4 [Option ID = 18192]

26)

What is described in Nof Sipthar written by Amir Khusraw?

1. Greatness of India
2. Music
3. Poetry
4 Iranian Civilization
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1. Y ®1 HeHal
2. 91 - I
3, &1 - I

4, éii:“ 3l

[Question ID = 4549][Question Description = 126_50_INC_SEP22_S2_Q26]

A w N =

1 [Option ID = 18193]
2 [Option ID = 18194]
3 [Option ID = 18195]
4 [Option ID = 18196]

27)

Whio ameng the follewing built dams and dug canals on Tungbhadra and Haridra rivers?

1. Raja Dev Rai - |
2, Harihara

3. Adil Shah -1l
4 Alauddin Shah

fFfafEd 7 § fem st 3R efer Afad! t iy §9ad ofR e @aan 7

1. 71 &4 19 UUH
2. ERET neH

3, HIfee =g fgd™
4, 3T3e Ae

[Question ID = 4550][Question Description = 127_50_INC_SEP22_S2_Q27]

1. 1 [Option ID = 18197]
2. 2 [Option ID = 18198]
3.

4. 4 [Option ID = 18200]

3 [Option ID = 18199]



28)
Wheo is the author of famous book of Music Kitab-e-Nauras?

1. Amnir Khusraw

2, Ibrahim-Adil Shah -1
3, Qutab Shah

4, Quli Qutub Shah

Hilid TRE IR Wi 9y Toare Ry fae fodi 7

1. SR @RI
2. ZeeE g e - |l
4. Pl Pgd TE

[Question ID = 4551][Question Description = 128_50_INC_SEP22_S2_Q28]
1. 1 [Option ID = 18201]
2. 2 [Option ID = 18202]
3. 3 [Option ID = 18203]
4. 4 [Option ID = 18204]

29)
Yama-Nachiketa' diglogue is described in which Upanishad?

1. Brihadaranyakopnishad
2, Ishapanishad

3, Kenopanishad

4, Kathopanishad

qH-Afadal HalG [y 3Ui-ug H afiid & ;

1. SECROTRITHEG
2. §eIEg
3. SHAEG
4, BTG

[Question ID = 4552][Question Description = 129_50_INC_SEP22_S2_Q29]
1. 1 [Option ID = 18205]
2. 2 [Option ID = 18206]
3. 3 [Option ID = 18207]
4. 4 [Option ID = 18208]

30)
Type of enactments of plays-are;

1.4
2.1
3.3
4.8
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[Question ID = 4553][Question Description = 130_50_INC_SEP22_S2_Q30]
1 [Option ID = 18209]
2 [Option ID = 18210]
3 [Option ID = 18211]
4 [Option ID = 18212]

A w N =

31)
According to Kautilya, the supreme authority of tax collection is known as:

1. Treasuror (Koshadhyaksh)

2, Collector general (Samaharta)
3. Samakhyanak

4 Nidhanak

Difecd ® HIUR TI-TUe & Yard AUDR] B [5G 218 § o1 Sl & ;

1. BIETEE
2. §HEal
3, TS
4, FyHe

[Question ID = 4554][Question Description = 131_50_INC_SEP22_S2_Q31]
1 [Option ID = 18213]
2 [Option ID = 18214]
3 [Option ID = 18215]
4 [Option ID = 18216]

A w N =

32)
Which of the fallowing is not the work of Brhavbhuti?

1. Uttarramchant
2, Maltimadhav
3. Ratnavali

4, WMahavircharit

U EH Y P T el o

1. STREERA
2, ATTa e
3, Tdmasi

4, HEEIENg

[Question ID = 4555][Question Description = 132_50_INC_SEP22_S2_Q32]
1. 1 [Option ID = 18217]
2. 2 [Option ID = 18218]
3. 3 [Option ID = 18219]
4. 4 [Option ID = 18220]



33)
Which one of the following is not a ‘dayad’ son accerding to manusmriti?

1. Auras
2, Kritrim
3, Kanin
4, Gudhaj

AT F SR s Y S aEE T s 8 7

1,379
2. FEH
3, @HEE
4. 769

[Question ID = 4556][Question Description = 133_50_INC_SEP22_S2_Q33]
1. 1 [Option ID = 18221]
2. 2 [Option ID = 18222]
3. 3 [Option ID = 18223]
4. 4 [Option ID = 18224]

34)
Which one of the following is the famous dance of the state of Assam?

1. Raslila

2, Bihu

3, Kathak
4, Devdhani

HH Ul ®] WS 7 B 7

1. ITERARI
2.f9g

3. thdfd

4, gyl

[Question ID = 4557][Question Description = 134_50_INC_SEP22_S2_Q34]
1. 1 [Option ID = 18225]
2. 2 [Option ID = 18226]
3. 3 [Option ID = 18227]
4. 4 [Option ID = 18228]

35)
Which is the popularwork of Shrimant Shankardev?

1. Kathagita

2, Bhakti Ratnawali
3, Katha Bhagavat
4 Kirtan Ghosha
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1. YT T
2. Hfad TAmaal
3, BYT YITad
4, Bic-] 9IE

[Question ID = 4558][Question Description = 135_50_INC_SEP22_S2_Q35]
1. 1 [Option ID = 18229]
2. 2 [Option ID = 18230]
3. 3 [Option ID = 18231]
4. 4 [Option ID = 18232]

36)
Whio is the author of an important book, History and Doctrine of the Ajivikas: A Vanished Indian

Religion written on the Ajivaka Sampraday?

1. A, L. Basham

2, Romila Thapar

3, Ramesh Chandra Majumdar
4, Vasudev Sharan Aggarwal

ellg® Guay Ur fordl Tﬁﬂﬂﬁﬂ{ﬂf Yid® 'History and Doctrine of the Ajivikas: A Vanished Indian
Religion’ TGP DH 6 ?

1. T T, 9=
2, RTHE YR

3. T 9% HEAGR
4, ARIGE TR HYGR

[Question ID = 4559][Question Description = 136_50_INC_SEP22_S2_Q36]

1. 1 [Option ID = 18233]
2. 2 [Option ID = 18234]
3. 3 [Option ID = 18235]
4. 4 [Option ID = 18236]

37)
Whiat is the name of the capital of Chedi Mahajanpad?

1. Varanasi
2, Mathura
3. Ujjayini

4 Sothivati

TG AeTe-aG @ AU & AT9 41 47 7

1, GRTOTE]
2,54

3. Il
4, Frfaadt

[Question ID = 4560][Question Description = 137_50_INC_SEP22_S2_Q37]

1. 1 [Option ID = 18237]
2. 2 [Option ID = 18238]



3. 3 [Option ID = 18239]
4. 4 [Option ID = 18240]

38)
From which of the following Indus site we get a clear evidence of water management?

1. Dhaulavira
2, Lothal

3. Chanhudado
4, Rojadi

FafaiEa | 1 iy Te e d o ney- & wp O i & 7

1. STAERT
2. 9E
3. 958!
4,353

[Question ID = 4561][Question Description = 138_50_INC_SEP22_S2_Q38]
1 [Option ID = 18241]
2 [Option ID = 18242]
3 [Option ID = 18243]
4 [Option ID = 18244]

A w N =

39)
Whio is the excavater of the Indus site, Kalibanga?

1. Johin Marshal

2. Martimer Wheeler

3, Alexander Cunningham
4, Amalanand Ghosh

HICHE Q89 I $1 Jee- ol ®H 6 7

1. S AR

2 ACTET @I

3, Tigo st BT
4, ¥EEHE 99

[Question ID = 4562][Question Description = 139_50_INC_SEP22_S2_Q39]
1 [Option ID = 18245]
2 [Option ID = 18246]
3 [Option ID = 18247]
4 [Option ID = 18248]

A w N =

40)
The famous terracottas of Ganga and Yamuna have been obtained from which of the following

Gupia site locations?

1. Shravasti
2, Ahicchatra
3, Kaushambi
4, Sarnath
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1. 5SS
2, dfg=sa
3, FHIEET
4, FRAY

[Question ID = 4563][Question Description = 140_50_INC_SEP22_S2_Q40]
1. 1 [Option ID = 18249]
2. 2 [Option ID = 18250]
3. 3 [Option ID = 18251]
4. 4 [Option ID = 18252]

41)
Select the correct statements among the following:

A. The expansion of Buddhismy in Sri Lanka, Myanmar, China and Central Asia fostered cultural

relation with India.
B. During the reign of Ashok, Buddhist Pracharakas were sent to Sri Lanka.
C. Kanishka sent his ambassador to Sri Lanka.

D. The inscription of Kushan rules obtained from Sri Lanka shed light on the relationship between
the twe countries.

Choose the correct answer from the options given below,

1.4 and C anly
2,B and Conly
3.C and D only
4 Aand B only

Fofafed o ¥ 90 & 95 31

%maﬂ?iaﬂ. THAR, 9F, 9 99 TR E dig 95 & UOR 5 YRd & 914 Jipiae wadl 3l 951l
[

B, H¥I® @ WTHA H Hl FaR®I o] Hiwie] Hefl 7147

C. BI-1=p - U1 ga Hicid Ha uT

D. SiTie] & Ui ST WS & o gl o3l & 919 96 O WH1E| S5 8

i g e faded! 5 & 981 9ok 4 -
1. a0 A SR C
2. had B AR C

3. FEACAR D
4, Had A SRE

[Question ID = 4564][Question Description = 141_50_INC_SEP22_S2_Q41]
1. 1 [Option ID = 18253]
2. 2 [Option ID = 18254]
3. 3 [Option ID = 18255]
4. 4 [Option ID = 18256]



42)
Identify the comrect statement/s ameng the following:

A, The Indians used decimal system for the first time,

B. The first use of Zero in Arabs reached from India in 1022 A. D,

C. The first inscriptional evidence of the decimal system is-found in the third century.
D. Indians discovered Shunya,

Cheose the correct answer from the options given below;

1.4 and Conly
2.B and D only
3, A and D only
4 B and C only

Fafied 3§ ¥ 9e $Y9 &1 994 91

A, HRATTT = UuH §R G Usid @ whi fedl|

B. 3al H I @ UYH WHFT 1022 3.9, H Hikd § ggal|

C. GUHTE USia @ Uy ey uisd gdi Tl 5.9, 5 e o
D. I @1 @I YRl = @11

e fu e fowed! 9 4 W S T ;

1. @A ANC
2, FIABARD
3, HIAAARD
4, FAABIARC

[Question ID = 4565][Question Description = 142_50_INC_SEP22_S2_Q42]
1. 1 [Option ID = 18257]
2. 2 [Option ID = 18258]
3. 3 [Option ID = 18259]
4. 4 [Option ID = 18260]

43)
Identify the comrect statements from the following:

A, The evidences of early Indian settlement in Java beleng to 56 4. D,
B. The temples built by the Chandel! rulers i Java shed light on architecture.

C. The Chinese traveler Xuanzang, who visited Java inthe fifth century, has mentioned the practice
of Hindu religion.

D. Harshvardhan had sent his ambassadors to Java.
Choose the correct answer from the options given below:

1.4 and B only
2,A and Conly
3. B and Conly
4, C and D only
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A, SE H RS YR 4 3991 & 918 56 5.9, T e 61

B. W41 H HaT WHS] & gRI HiFd At Wt U3 UsE STed 8 |

C. gi=dl 941 § S e Ji-1 ol wifeaE | e o9 & ugad &1 Jood o 8|
D. BHGGT = U Gl wial el o)

i g e faded! 5 & 981 9ok 4 -

1. ad A AR B
2. FAAASMRC
3, FAAB ARC
4, FFACIND

[Question ID = 4566][Question Description = 143_50_INC_SEP22_S2_Q43]
1. 1 [Option ID = 18261]
2. 2 [Option ID = 18262]
3. 3 [Option ID = 18263]
4. 4[Option ID = 18264]

44)
Identify the correct statements among the following;

A, Xuanzang has described the wider influence of Digambar sect as compared to Shwetambar,
B. The growth of Jain temple architectures can be seen in Shunga period.

C. Akalank, Haribhadra, Vidyanand Mukh were Jain philesophers.

D. The remains of Jaina Mahastupa have been found from Patliputra,

Choose the correct answer from the options given below;

1.B and D only
2.Cand D only
3. A and C only
4, 4 and D only

FafiEd o § Wét @y & 999 B
A, TTHITH dieR 1 37 RFieR HUEr & I0E WHIE B gl (ol B
B, EiT @Ic H G HiaX WG B fahie o8- & [Hedl o
C. rpcis, glHE, s e o aiFe 4|
D. 99 HETEE & a9y Uefigd € Wi gu 8
e fEu e fowed! 9 4 W S 9 -
1.5a0 B 3R D
2. @ad C R D

3. FAAAARC
4, HIAA IRD



[Question ID = 4567][Question Description = 144_50_INC_SEP22_S2_Q44]
1. 1 [Option ID = 18265]
2. 2 [Option ID = 18266]
3. 3 [Option ID = 18267]
4. 4 [Option ID = 18268]

) Two British Historians who are the major representatives of pragmatist philesephy in Indian
prospective:
A leremy Bentham
B. Jarmes Mill
C. T. B. Macaulay
D. Charles Grant

Choose the correct answer from the options given below;

1.4 and B enly
2,Cand D only
3. B and C only
4, A and D only

YRA ® HeH H SULiaEm] Ha o &l ey SieeR s8e UHE e E ;
A, S 4T

B. 5 A

c. 4. §1. Adm

D. 9768 Uie

e w0 fomed! & S W S g :

1. Paa A HTB
2, HFAC IND
3, AR AR C
4, FFAAAND

[Question ID = 4568][Question Description = 145_50_INC_SEP22_S2_Q45]
1 [Option ID = 18269]
2 [Option ID = 18270]
3 [Option ID = 18271]
4 [Option ID = 18272]

A w N =



46)
The peroid from 1834 to 1857 AD in India is knewn as the golden period of evangelical
propagation, because:

A, Christian missionaries activities increased.

B. Temples were built at a fast rate.

C. Books were distributed.

D. Hindus and Muslims were severly criticized.

Choose the correct answer from the options given below,

1.4 and B only
2,B and Conly
3.C and D only
4 Aand Donly

YR H 1834 T 1857 3. & ISl P] Sa-eadma FaR &1 991 T3 Hel wiel o [orgd ;
A, E0Ts ThemRgl @1 Taratedl gg T

B, HfexT @1 oig 7iia © At gan

C. G gic T

D. feg 71 TUaEH! 31 Hie Aara- &1 T4

74 fau 7Tu fashed! 3 9 w8 Sw g ;

1.aAA AT B
2. FFARARC
3, &ad C 3R D
4, FFAA AND

[Question ID = 4569][Question Description = 146_50_INC_SEP22_S2_Q46]
1. 1 [Option ID = 18273]
2. 2 [Option ID = 18274]
3. 3 [Option ID = 18275]
4. 4 [Option ID = 18276]

47)
Which of the following "Kalp' are assumed to be under Vedang-

A, Dharmsutra

B, Tattvartha sutra

C. Shulvasutra

D. Abhidharmsutra

Choose the correct answer from the options given below;

1.4 and B enly
2.Band Conly
3. A and Conly
4, Cand D only



SHHIRIREd # S Bed’ IGHT & el A S & -
A, HHEH

B. TTgA

C. oA

D. HiHuHTH

ial Tou 71e fased! 5 4 981 5w 9 ;

1. ad A AR B
2. FEABIARC
3, FAAA ANC
4, FFAC IND

[Question ID = 4570][Question Description = 147_50_INC_SEP22_S2_Q47]
1. 1 [Option ID = 18277]
2. 2 [Option ID = 18278]
3. 3 [Option ID = 18279]
4. 4 [Option ID = 18280]

) Cheose the eption of the group of scripts frem the following:
A, Madhavi
B, Sharada
C. Vivara
D. Nevari

Choose the correct answer from the options given below;

.4 and B enly
.B and Conly
.C and D only
.Band D only

a0 DR -

it # @ faftat & o @1 fee gt -
A, el

B. TM<al

c. faamr

D. Jart

i g 7 faded] & & W8l 3w g9 -

1. Fad A R B
2. FEAR ARC
3, HIAC D
4, FIABARD



[Question ID = 4571][Question Description = 148_50_INC_SEP22_S2_Q48]
1. 1 [Option ID = 18281]
2. 2 [Option ID = 18282]
3. 3 [Option ID = 18283]
4. 4 [Option ID = 18284]

49)
Choose the appropriate aptions in the context of Asiatic Society-

A, Maxmuller

B. Charles William

C. Geogre Kardona

D. William Jones

Choose the correct answer from the options given below;

1.4 and C only
2.B and Conly
3. B and D only
4, 4 and D only

URIe® HEE & HaH H i e o 98- St -
A, HFEET

B. 9 fafergs

C, 7St BIGH

D. faferas S

ia Teu e foded! & 9 581 5w 9 -

1.3ad A AR C
2. FEABIARC
3. FFAB ARND
4, FIFAAAND

[Question ID = 4572][Question Description = 149_50_INC_SEP22_S2_Q49]
1. 1 [Option ID = 18285]
2. 2 [Option ID = 18286]
3. 3 [Option ID = 18287]
4. 4 [Option ID = 18288]



50)
Cheose the correct option from the following:

A, Vedas describe many jewelleries. It has two kinds - (1) Aderned with precious stones (2) Without
precious stone. The wearer of Ratnas was called as Ratnadha.

B, The ancient Rishis did not know about ratnas, They were guite ignorant about it
C. 'Nishk was a jewellery of gold. The wearer of Nishk were called "Nishkgriv”

D. There is no description of any jewellery in "Atharvaveda”,

Choose the correct answer from the options given below;

1.4 and C only
2. B and Conly
3. C and D only
4 A and B only

Fafeiad J § #e] SR @1 99 S -

A 951 & 3F® 14EY & 99 o1 59 of 48 ¥ - 1) 2tTEd 2) 3R W @1 YRy & a
H I Fed U

B. UTHITH 1941 &1 7&l &1 719 6] UT1 d 354 FauT 30F U

¢, 5% T @7 ImET 7] 32 Ue=- ara & e UiF $ed 4l

D. HYydag ¥ gl YN & aui- a! Herdl|

74 fau 7Tu fashed! 3 9 w8 Sw g ;

1.BaA A AR C
2. FFARARC
3, &ad C 3R D
4, FaAA ANB

[Question ID = 4573][Question Description = 150_50_INC_SEP22_S2_Q50]
1. 1 [Option ID = 18289]
2. 2 [Option ID = 18290]
3. 3 [Option ID = 18291]
4. 4 [Option ID = 18292]



51)
Choose the incorrect statement pertaining to Kashmir and Ladakh:

A, The king of Gwalior sent books on music to Badshah.

B. "Raj Tarangini” was written in the court of Zainul-Abedin.

C. According to Alberuni, there was no restriction on anyone's going to Kasmhir.
D. Baltistan is known as Tibet-e-Khurd' i.e. Smiall Tibet.

Cheose the correct answer from the options given below;

1. B and C only
2.B and D only
3, A and D only
4, C and D only

TR AR a5 &7 4 Haftd e &y g -

A, SIGHITE @] TGIeRR & e 5 il Helidd 974 Hel |

B. TSR] e - HEGIH & Gar | ol 15|

C. 3SEe-] & 9N R J 5T & 9 1R gEa) 9811
D. SaiaeH @1 foed - @5 Huld Siel s o il g
el TEu e fased] 5 § 81 5w 9 -

1. @B AR C
2. FFABARD
3. HIAAARD
4. @98 C R D

[Question ID = 4574][Question Description = 151_50_INC_SEP22_S2_Q51]
1. 1 [Option ID = 18293]
2. 2 [Option ID = 18294]
3. 3 [Option ID = 18295]
4. 4 [Option ID = 18296]

52)
Choose the comrect statement pertaining to Shargi rule:

A, Mahmud Begada was the founder of Shargi state.

B. Jaiasi was related to the court of Shargi rulers,

C. The capital of Shargi rulers was knewn as the "Shiraz of the East’
D. lts capital was-Malwa,

Cheose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3.C and D only
4 Aand Danly



T[T T § HST Hel ol Bl g ;

A, TIETG 97TS] I3 10 & SIS T

B. ST 1 GeY Teh] avar | 41

C. D! ATHD! B A1 Bl Gd BT LTS Bel Siral ATl
D. 31 XToTT Aerar 4

e fou e fased! 7 4 1 SW T ;

1.aAA AT B
2. FFARARC
3, &ad C 3R D
4, FFAA AND

[Question ID = 4575][Question Description = 152_50_INC_SEP22_S2_Q52]
1. 1 [Option ID = 18297]
2. 2 [Option ID = 18298]
3. 3 [Option ID = 18299]
4. 4 [Option ID = 18300]

53)
Which of the following Gurus of the Sikhs went to Kashi and propagated their preachings:

A. Guru Govind Singh

B, Guru Nanak

C. Guru Harkishan

D. Guru Tegh Bahadur

E. Guru Har Govind

Choose the correct answer from the options given below,

.4 and B only
.B and Conly
.Band D only

S 0 T W

.Cand Eonly



4 o 4 Rl & o s A ST Sy o a1 waR e
A, TE TIE 58

B. % A

C. TT® Wi

D. 7% 47 §8IgY

£ e eveG

e fou e fawed! 7 4 W1 S T ;

1. Paa A HTB
2, HFAC IND
3, FIABARD
4, FIACHARE

[Question ID = 4576][Question Description = 153_50_INC_SEP22_S2_Q53]
1. 1 [Option ID = 18301]
2. 2 [Option ID = 18302]
3. 3 [Option ID = 18303]
4. 4 [Option ID = 18304]

54)
Choose the correct statements:

A, Sikh Guru Arjun Dev was the son of Guru Ram Das,

B. Guru Harkishan Sahib was the Seventh Sikh guru.

C. Guru Har Govind Singh was the sixth Sikh gurd.

D. Guru Ram Das is believed to be the second Guru of Sikhs:
Choose the correct answer from the options given below:

1.4 and C anly
2.Cand D only
3. A and B only
4, B and D only



T H O W ®YA ®1 907 31

A, To@E 7% 2o 59 T THEE & g 4|

B, % BXI A Hies o 14w 1% 4|

C. % BXIIaG e B0 g 1% 4

D. 7% 319 &1 @1 9@ B GO 1% AT Wil 5
e few e el H AW IR

1. A A HNC
2, HFAC IND
3, A A N8
4, FFABARD

[Question ID = 4577][Question Description = 154_50_INC_SEP22_S2_Q54]
1. 1 [Option ID = 18305]
2. 2 [Option ID = 18306]
3. 3 [Option ID = 18307]
4. 4 [Option ID = 18308]

55)
Choose the correct statements from the following:

A, Hinyaan, Mahayaan and Vajrayaan are the three major sects of Buddhism.
B. The description-of the views of Hinyaan is found in Tripitakas.

C. The books of Mahayaan are written in Pali language.

D. The preachings of Buddha are not compiled in Suttapitak.

Choose the correct answer from the options given below;

1.4 and B enly
2,4 and D only
3. A and C only
4,B and D only

T8 U W PYT B 90 B

A. BIFAH, FEMH AR a99F S1& UH & o HYH 99EE gl
B. B9 & Hd @1 9uiH Bftes! H Iuas gid g

C. HEAH & 7 Ol uryr & Fas £

D. gulde® H g5 & 3uc Wi 1al ol

R Red W s

1. Paa A HTB
2, FFIAAND
3, BIAA ARC
4, FFABARD



[Question ID = 4578][Question Description = 155_50_INC_SEP22_S2_Q55]
1. 1 [Option ID = 18309]
2. 2 [Option ID = 18310]
3. 3 [Option ID = 18311]
4. 4[Option ID = 18312]

56)
Types of marriages include:

A. Gotra marriage

B, Daiv marriage

C. Arsh marriage

D. Kalp marriage

Choose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3. C and D only
4, 4 and D only

A7 faare

B. %4 faate

C. 8 faar

D. %] fgarg

74 T4 1 faed] 5 8 98l SR 9 ;

1. ad A AR B
2. FEABIARC
3, IAC D
4, FIFAD AR A

[Question ID = 4579][Question Description = 156_50_INC_SEP22_S2_Q56]
1. 1 [Option ID = 18313]
2. 2 [Option ID = 18314]
3. 3 [Option ID = 18315]
4. 4[Option ID = 18316]



57)

Choose the correct statements:

A, Alwar Saints are said to be the founder of Bhakti movement.

B. They belong to Kerala.

C. The name of female Alwar Saint is "Andal’,

D. The Alwars played an important rele in the propagation of Shaiva principles.
Cheose the correct answer from the options given below;

1.4 and Conly
2.B and D only
3, C and D only
4 A and B only

9 O U HYT & 99 B ;
A, HEER Ta Hied Hiaies & SHemT 91 9 &
B, Eh] Yat el Uig H ol

c. Afee aR €a &1 919 s Bl
D. HTAR| @1 9d fEial & U9R 3 Hewqn YiHa @
I umu faead 5 € O I 9 -

1. @A ANC
2, FIABARD
3, HIAC IR D
4 FHAAA B

[Question ID = 4580][Question Description = 157_50_INC_SEP22_S2_Q57]

1.1
2.2
3.3
4. 4

58)

[Option ID = 18317]
[Option ID = 18318]
[Option ID = 18319]
[Option ID = 18320]
Choose the correct statement from the following:
A, The poems of Alwars whio gave birth to Bhakti movement iscalled 'Divya Prabandh’.
B. The number of Alwar Saints is said to be 16,
C. Devotional songs of Alwars are kriown as 'Gynandvip',
D. The birth place of Porage who figure ameng the first three Alwars is Mahabalipuram.

Cheose the correct answer from the options given below;

1. B and D orily
2.A and B only
3, B and Conly
4 A and Conly



FfcTad # ¥ 9 $YF &1 904 S0 ;

A, HiEH - 3icTerH & SH® AR & el & 99% Tasd udsr daardi
B, HTETaR el &1 T 16 HF Wl g

C. OGR! § HidaTH FHe/u & &0 H T g |

D. YT T HIGaR! § 3 9T & SraeyTs Heraegie 4l

e fou e fased! 7 4 1 SW T ;

1. 980 B AR D
2, FIAAANB
3, FAABIARC
4, FFAAANC

[Question ID = 4581][Question Description = 158_50_INC_SEP22_S2_Q58]
1. 1 [Option ID = 18321]
2. 2 [Option ID = 18322]
3. 3 [Option ID = 18323]
4. 4 [Option ID = 18324]

59)
Choose the correct statement regarding the period of Akbar;

A, Ibadatkhana was built for discussion among different religions.
B, Jain saint Hira Vijay Suri lived in his court.

C. He declared himself as an incarnation of God,

D. His courtier Raja Todarmal real name was Mahesh Das.
Choose the correct answer from the options given below,

1.4 and B only
2,A and Conly
3. A and D anly
4. Cand D only

et B § Halgd Wed PYH I ;

A, fafim vil & &9 991 & e sagoEr S/

8, 5 9 fewr oo gl So% saR A <6

C. B W B YT B aaR Uiy 4Tl

D. THE TR Sl SRSHT B SHe 418 Hedl g 41|
e fou e fased! 7 4 1 SW T ;

1.aAA AT B
2. FFAAARC
3, FAAA SRD
4, FFAC D



[Question ID = 4582][Question Description = 159_50_INC_SEP22_S2_Q59]
1. 1 [Option ID = 18325]
2. 2 [Option ID = 18326]
3. 3 [Option ID = 18327]
4. 4 [Option ID = 18328]

60)
Choose the following Acharyas related to Ethics (Nitishastra):

A, Mammat

B, Kamandak

C. Chandra

D. Shukra

Choose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3. C and D only
4,Band D only

HelRIREd T IRRE 4§ e Sl ol g ;
A TR

B. THGE

C.a=

D. [
Fid Tou U fomed! & € 951 Ok 9 -

1. ad A AR B
2. FEABIARC
3, IAC D
4, FIABARD

[Question ID = 4583][Question Description = 160_50_INC_SEP22_S2_Q60]
1. 1 [Option ID = 18329]
2. 2 [Option ID = 18330]
3. 3 [Option ID = 18331]
4. 4[Option ID = 18332]



61)
Choose the Drama of Prakaran type from the following:

A, Parvati-Parinay

B. Kaumudi-Mahotsav

C. Malti madhav

D. Mrichhkatik

Choose the correct answer from the options given below;

1..C and D only
2.A and D anly
3, B and Conly
4 A and B only

Fafciad § § Uew TeR & 9] & 94 S
A. el - gRug
8. BIHE Hela
C. Al 714
D. g3 @ie®
74 fou 7T¢ faded] 3 § 98 I g ;
1.8 C IR D
2, HIA A AR D

3. HAAE SN C
4 Had A RE

[Question ID = 4584][Question Description = 161_50_INC_SEP22_S2_Q61]
1. 1 [Option ID = 18333]
2. 2 [Option ID = 18334]
3. 3 [Option ID = 18335]
4. 4 [Option ID = 18336]

62)
Choose the Nikayas of Suttpitak

A, Vinay Nikaya

B. Samyukta Nikaya

C. Aguttar Nikaya

D. Abhidhamm Nikaya

Choose the correct answer from the options given below;

1.4 and B enly
2.B and Conly
3, Cand D only
4 Aand D anly



Yoltuesd & ol o1 9g- Bifeg -
A, foTg Fom

B. g T

C. IR Fay

D. 34y o™

7 74U T fadbed] 5 & Wel S7R 4 ;

1.aAA AT B
2. FFARARC
3, &ad C 3R D
4, FFAA AND

[Question ID = 4585][Question Description = 162_50_INC_SEP22_S2_Qé62]
1. 1 [Option ID = 18337]
2. 2 [Option ID = 18338]
3. 3 [Option ID = 18339]
4. 4 [Option ID = 18340]

¢ In early Medieval Age, the predominance of Tantric Buddhism is seen which is also known as
Vajrayana.
A, The early text of this tradition is Manjushrimulkalp,
B, lts special influence is seen in Gupta Age.
C. The combination of rituals, magic and meditation is not seen in it.
D. Vajra-Rajdand Ghanti are main elements of its rituals:

Choose the correct answer from the options given below;

1.4 and D only
2.B and Conly
3. A and C only
4,Band D only

HRTHE AETe § diHE gig U ®] UHE o8- & [Hadl & (o8 g9gH T o H SE |e g1
A 39 T & URYE T g9l ge@ed 5

B. [ETehIct H 3% (9218 WHId oE- @) Hodl o

C. ST 3FEF, 9Ig 9 W TG &1 G E- & T8l Hadl 8l

D. G - U9GS 4 9¢] 9@ 9H8H & 98 0@ 4|

e fEu e fowed! 9 4 W S 9 -

1.3 A ARD
2. FEABIARC
3, FAAA ANC
4, FIABARD



[Question ID = 4586][Question Description = 163_50_INC_SEP22_S2_Qé63]
1. 1 [Option ID = 18341]
2. 2 [Option ID = 18342]
3. 3 [Option ID = 18343]
4. 4 [Option ID = 18344]

64)
Choose the comrrect statement from the following;

A. Baba Dayal Das had begun the Nirankari Sikh movement in 19th century (1783-1853).
B. In this movement; he emphasized-on the reforms regarding nuptial customs.

C. He called for bringing the Sikhs back to their purest form.

D. He did not emphasized enthe worship of the Nirankar form of God.

Choose the correct answer from the options given below;

1.B and D only
2. A and B only
3, Cand D only
4 A and Caonly

Fafaied # € 92 sy @ 9 ;

A, FRERI e Hicio- o ToHd a8 GUid o/ 3 SA1gdl Jdisal (1783 - 1855) H a1 Ui
B, 3O e T @1 f3aTe e owerel & QuR o e &

c. Tl @f siuH fayg &9 H a9y oF @1 91d ®611

D. 3% & FR@N W @) SRIYE] 9 94 T8 edll

e fou e fawed! 7 4 1 S 9 -

1. FAAB 3R D
2. FaAA ANB
3, HIAC D
4, FIAA ARC

[Question ID = 4587][Question Description = 164_50_INC_SEP22_S2_Qé64]
1. 1 [Option ID = 18345]
2. 2 [Option ID = 18346]
3. 3 [Option ID = 18347]
4. 4 [Option ID = 18348]



65)
Cheose the correct statements;

A, The description of Purushsukta is mentioned in all four Vedas.

B. The description-of Vaksukta is found in Yajurveda,

C. The importance of donation is described in Sagnyan suktas.

D. The description of the process of creation is found in Nasadiya Sukta.
Choose the correct answer from the options given below:;

1.4 and Conly
2.B and Conly
3,A and B enly
4 Aand D anly

S5 Y Yol @Y @l 99 o :
A TSNYSd P 3oord 9R] 9ol J TS g

8. GTHRIG P gUi Tojde 3 UK sl 8

C. §9F Gl & §F @) AfgH aftid ¢

D. TTHEH e F 9iP - Ufth %l fade Suas s 8 |
F fu e ool § S 98 S T -

1. @A ANC
2, FEAB AR C
3, HIAA ANB
4, FAA A RD

[Question ID = 4588][Question Description = 165_50_INC_SEP22_S2_Q65]
1. 1 [Option ID = 18349]
2. 2 [Option ID = 18350]
3. 3 [Option ID = 18351]
4. 4 [Option ID = 18352]



66)
Match List | with List Il

List | List Il

Acharya Viewpoint

A, Shankaracharya |l. Dvaita

B, Vallabhacharya  |Il. Vishishtadvaita

C. Madhvacharya  |lll. Advaita

D. Ramanujacharya |IV. Shuddhadvaita

Choose the carrect answer from the options given belaw:

TA-ILB-IM,C-1LDB=1
ZA-ILB-M,C-1LD-1
SA-ILB-MC-Il, B=]
4 A-LB-1,C=IlL B~V

! -1 I -1 H AT BT

ﬂ\ﬁ"d -1l
(3= 9

A, SiwE I g

B, FErHTEE 1, faftrerea
C. Ty 111, Sfgel

D. IEHSER Iv. RETEd
rd feu e fgmeg! ® € el S gHe:

T.A-Il,B=-NM,C-I D-1
ZA-NLB-NW,C-LD-1
AN B-NM,C-1l, D=
AA-LB-1, E= LD~V

[Question ID = 4589][Question Description = 166_50_INC_SEP22_S2_Q66]
1. 1 [Option ID = 18353]
2. 2 [Option ID = 18354]
3. 3 [Option ID = 18355]
4. 4 [Option ID = 18356]



67)
Match List | with List 1l

List | List Il

Commentary Commentator

A, Vivekchudamani  |l. Raghavanand

B, Mitakshara Il Jimutavahan

C. Dayabhag Il. Shankarachary

D. Manvarthchandrika'|IV. Vijnaneshwar

Choose the carrect answer from the options given below:

T.A-IILB-IW,C-Il, B~
ZA-ILB=-ILECA, B~V
3A-IV,B=LC-N, D=1
4A-IV,B=-ll,C-1,D-]|

i -| ] 4l -1l 4 gHled B ;

GELR -l
() EPTPR)
A, BadHISH I TEHS
B, TR II, SimdreT
C. TR iil. SipeEr
0. FadEisan v, faaHeR

rd feu e el # 4 ud swgh:

T.A-HLB-IW,C-1l, B-|
2A-ILB=NLC,B-IV
JA-MB-LC-NLD-1
4A8-IMB-NLC-1L D=1

[Question ID = 4590][Question Description = 167_50_INC_SEP22_S2_Qé67]
1. 1 [Option ID = 18357]
2. 2 [Option ID = 18358]
3. 3 [Option ID = 18359]
4. 4 [Option ID = 18360]



68)
Match the List | (victories of Ranjit Singh) with List 11 (their dates):-

List | List I
A. Lahore victory |l 1806-1807

B.Kangra victory  |Il. 1813

. Ludhiana victory |lIl. 1799

D. Attuk victory IV. 1809

Choose the correct answer from the options given below:

TLA-IB-IV,C-1l,D-|
2ZA-W,B-I,C-1,D-|
LA-WLB-WV,C-I,LD-1
4A-IV,B-ILC-1l,D-|

Tl -1 Il -1 & AT @l -
el fig @ fasi @1 gu®] fafddl | e s ;

GELR =T -1
A TRR W AHHR . 1806-1807
B. RIS I HYDR Il.1813
C. TAHT R DR . 1799
D. 32® W YD IV. 1809

4 fGu e fasbedl # € 951 SR gL

TA-WB-IV,C-1l,D-|
2ZA-IV,B-Il,C-Il,D-1|
A-ILB-INV,C-1,D-1
4A-V,B-I,C-1Il,D-|

[Question ID = 4591][Question Description = 168_50_INC_SEP22_S2_Qé68]
1. 1 [Option ID = 18361]
2. 2 [Option ID = 18362]
3. 3 [Option ID = 18363]
4. 4 [Option ID = 18364]



69)
Match List | with List Il

List | List I

A. Arya Samaj l. Keshav Chandra Sen
B. Brahm Samaj Il. Raja Ram Mohan Ray
. Prarthna Samaj 1Il. Maharshi Dayanand
D. Satya Shodhak Samaj |IV. Jyetiba Phule

Choose the correct answer from the options given below;

TLA-ILB-IW,C-1Il,D-|
2ZA-LB-ILC-IV,D-1l
3LA-W,B-II,LC-1Il,D-|
4A-B-ILC-LD-IV

gl -1 B G2 -1 gEEE Sl

= -1 =T -1

A, 3 gae I PUETF T

B. 7 WA I1. TSTRTH HIEHH
C. AT S I, BB UG
D. TEENH® o Iv. s T
i fam e fowedt & 9O ST

T.A-I,B-IV,C-1,LD-|
2ZA-1LB-NL,C-IV,D-1
FA-WB-IL,C-N,D-1
4A-LB-ILC-1,D-IV

[Question ID = 4592][Question Description = 169_50_INC_SEP22_S2_Qé69]
1. 1 [Option ID = 18365]
2. 2 [Option ID = 18366]
3. 3 [Option ID = 18367]
4. 4 [Option ID = 18368]

70)
Match List | with List 1l

List1 List Il
A. Ghajali Mashhadi |I. Jahangir

B. Jamali Dehlavi 1. Alamgir
. Naziri Nishapuri  |Ill. Akbar
D. Bedil Azimabadi |IV. Sikandar Lodhi

Choose the correct answer from the options given below;

T.A-IV,B-ILE-1Il,D-|
ZA-WB-LC-IV,D-Il
3A-ILB-N, C-,D-1
4. A-W,B-I,C-1l,D-|



1 -1 B -1 GHIEE B

T -l T -1

A. TTeTTcll HZigal |, eI

B. ATl Gad! I1. SRR
C. Tt =g 111, S

D. sfee rliEEg! VARE TSI
74 f&u e fawed! # § 98 SR AL

LA-V,B-ILC-IILD-I
2ZA-WB-LC-IV,D-Il
3LA-ULB-W,C-1,D-1l
4A-IV,B-U,C-1I,D-|

[Question ID = 4593][Question Description = 170_50_INC_SEP22_S2_Q70]
1. 1 [Option ID = 18369]
2. 2 [Option ID = 18370]
3. 3 [Option ID = 18371]
4. 4 [Option ID = 18372]

71)
Match List | with List 11
List | List 11
A. Jaypal I. Soer
B. Mubarak Shah |Ii. Ladhi
C. Bahlol 1. Khilji
D. Islam Shah IV. Shahi

Choose the correct answer from the options given below;

TA-IV,B-Il,C-1Il,D-|
ZA-L,B-ILC-1,B-IV
3LA-WV,B-II,C-Il,D-1
4A-1B-1,C-MD-WV

i -| ] 4l -1l 4 gHled B ;

GELR = -1
A, SHATE 1L TR

B. aR® e i1, TRt
C. FgaI 111, et
D. S5 V. et
rd fGu e famed! # ¥ 95l S gL

TLA-IV.B-ILC-1Il,LD-|
2ZA-LB-ILC-1L,D-V
LA-VB-IILC-1I,D-1|
AA-LB-1L,C-N, D=1V



[Question ID = 4594][Question Description = 171_50_INC_SEP22_S2_Q71]
1. 1 [Option ID = 18373]
2. 2 [Option ID = 18374]
3. 3 [Option ID = 18375]
4. 4 [Option ID = 18376]

72)
Match List | with List 1l

List 1 List 11

Temple Location

A, Virupaksha I. Bhuwaneswar
B, Brihadeshwar Temple II. Tanjavur

C. Rajarani Temple 11l. Pattadkal

D. Kandariya Mahadev Temple |IV. Khajuraho

Choose the correct answer frem the options given below:

TA-IB=1,C=l,B- IV
ZA-ILB-ILC=-1,D-IV
LA-LB-IE=HLB- 1V
AA-ILB=-LC-IM D=

Tl -1 Il -1 & AT @l -

GELR -1
LiGEd I

A, faouns Hicx 1. a4
B. gEayT iR 11, TR
C. TR H#ie Iil. FEG®a
D. HEATHEGE AlaY IV, TR

I fgu e faweg! H O gl Iwghe:

T A= B=], = D- 1V
ZA-NLB-ILC=LD- ¥
BA-LB-IC=ILB- IV
4A-ILB-L,C=-IN, D=

[Question ID = 4595][Question Description = 172_50_INC_SEP22_S2_Q72]
1. 1 [Option ID = 18377]
2. 2 [Option ID = 18378]
3. 3 [Option ID = 18379]
4. 4 [Option ID = 18380]



73)
Match List | with List Il

List | List 1l
Dyansity Capital

A, Pallava |. Madurai

B. Pandya II. Pratishthan

C. Rastrakoota

I1l. Kanchipuram

D. Saatvehana

IV. Manyakhet

Choose the carrect answer from the options given belaw:

T.A-LB-NILC-IV,D-1
ZA-ILB-LE-IV,D-1
SA-ILB-MC-Il, B=]
4A-LB-IV,C-1ILT-1

! -1 I -1 H AT BT

GEIE = -1
HECE UL
A Oeeid 1. {563

B, OTUSd II, HEH
C. UFHe I11. ST
D. TieaTe v, FFEEe
rd feu e fgmeg! ® € el S gHe:

T.A-LB-ILCE-IND-I
ZA-ILB-LE-N,D-1
AN B-NM,C-1l, D=
4A-LB-W C-1ILD-

[Question ID = 4596][Question Description = 173_50_INC_SEP22_S2_Q73]

1. 1 [Option ID = 18381]
2. 2 [Option ID = 18382]
3. 3 [Option ID = 18383]
4. 4 [Option ID = 18384]




74)
Match List | with List Il

List| List Ii

A. Ishopanishad l. Samveda

B. Kathopanishad  |II. Krishna Vajurveda
iZ. Kenopanishad 1l Shukla Yajurveda
D. Mundkopanishad |IV. Atharvaveda

Choose the correct answer from the options given below;

T.A-WB-W,C-1,B-I
ZA-WB-LC-1LB-1
A-ILB-W,C-LDE-1
4.A-LE-ILC-1L,D-1IV

Tl - I T -1 T A DI :

T -l T -1

A, ZEMufEg . 9T9dG

B. BATEG I\, T TedG
C. HAUAYg (11, ZFT Tolag
D. US@H UG Iv. 3f2dde
74 fEu e faped! & § 98I I ghg:

LA-ILB-IV,C-[,D-1
2ZA-IV,B-LC-1LB-1
LA-ILB-W,C-LD-1
4A-WB-ILC-LD-IV

[Question ID = 4597][Question Description = 174_50_INC_SEP22_S2_Q74]
1. 1 [Option ID = 18385]
2. 2 [Option ID = 18386]
3. 3 [Option ID = 18387]
4. 4 [Option ID = 18388]

75)
IMatch List | with List 11
List 1 List 11
A. Dashavatar Temple |l Tamil Nadu
B. Amravati Stupa Il. Andhra Pradesh
. Bharhut Stupa Ill. Madhya Pradesh
D. Brihadeshwar Temple |IV. Uttar Pradesh

Choose the correct answer from the options given below;

TLA-ILB-NW,C-LD-
ZA-1LB-IVC-U,D-1l
JLA-WV,B-1LCc-I,D-|
4A-V,B-UI,C-1,D-1l



Tl - I T -1 T A DI :

EE =7 -l

A, GEITEaR HigT |, TS

B. SERIEA W 11, 378 UG

C. ¥REa WY 1. 8 HEE
D. SEeHT HET V. IR Hex
74 fEu e faped! & § 98I I ghg:

LA-ILB-IVE-LB-
2ZA-LB-IMC-1,D-1I
3A-W.B-ILC-1,D-|
4A-IV,B-U,C-1,D-1

[Question ID = 4598][Question Description = 175_50_INC_SEP22_S2_Q75]
1. 1 [Option ID = 18389]
2. 2 [Option ID = 18390]
3. 3 [Option ID = 18391]
4. 4 [Option ID = 18392]

76)
Sequence the following temples according to the period of their construction:

A, Sun temple, Modhera

B, Bhitargaon temple, Kanpur

C. Sun temple, Konark

D. Parashurameswar temple, Bhuwaneswar

Choose the correct answer from the options given below

B, 0 AD
B,ACD
B, DA C
B, C DA

B S S S R

Fafeiad Hiez! B RS o SHR Haag o) ;
A QU HER, =gy

B. HIdwTia HiGy, HFER

C. gyHTeR, @D

D. UEREH {6, Ya-5

i g e faded! 5 & 981 9ok 4 -

1.B,C,AD
2B ACD
3.8,0,AC
48, C DA



[Question ID = 4599][Question Description = 176_50_INC_SEP22_S2_Q76]
1. 1 [Option ID = 18393]
2. 2 [Option ID = 18394]
3. 3 [Option ID = 18395]
4. 4 [Option ID = 18396]

77)
Sequence the following according te the period of their composition;

A, Kathasaritsagar

B. Buddhacharit

C. Natyashastra

D. Brihatsamhita

Choose the correct answer from the options given below

LG, B, DA
.B,ADC
DA B C
B, C DA

B S S S R

RiRad @ TaHmId & HT9R oaidd oY ;
A, BYUTHETR

B. §gdid

C. eI

D. geeiedl
Fid Tou U fomed! & € 951 Ok 9 -

1.C,B,D A
28 ADC
3.0,A,B,C
48, C DA

[Question ID = 4600][Question Description = 177_50_INC_SEP22_S2_Q77]
1. 1 [Option ID = 18397]
2. 2 [Option ID = 18398]
3. 3 [Option ID = 18399]
4. 4 [Option ID = 18400]



78)
Sequence the following Governorsinscribed in Junagarh inscriptions;

A, Tushaspha

B. Pushyagupta

C., Suvishakh

D. Pamadutt

Choose the correct answer from the options given below

AB D C
B,ACD
G B AD
D, CEB A

B S T S R

FTE e & Sftafes fafaRad Tsaur & SaearaR fEEE o
A. UG

8. JSTw

C. gfagma

D. Ut

Je feu T e F A W I

1.AB D C
2B ACD
3.CBAD
4.0,CEB A

[Question ID = 4601][Question Description = 178_50_INC_SEP22_S2_Q78]
1. 1 [Option ID = 18401]
2. 2 [Option ID = 18402]
3. 3 [Option ID = 18403]
4. 4 [Option ID = 18404]

79)
Identify the schools of Philosophy of Buddhist Philosophy:

A, Vivartavada

B. Vaibhashika

C. Syadvada

D. Sautrantika

Choose the correct answer from the options given below:;

.A and D only
.Band D only
.Band Conly
.Cand D only

B S T S R



915 - T2 & TEie FIeE! 1 95 S ;
A, [aadarg

B, gY@

C. Higle

D. HAT=iE

74 fau 7Tu fashed! 3 9 w8 Sw g ;

1.3ad A AR D
2, FFABARD
3, FAABIARC
4, FFAC D

[Question ID = 4602][Question Description = 179_50_INC_SEP22_S2_Q79]
1. 1 [Option ID = 18405]
2. 2 [Option ID = 18406]
3. 3 [Option ID = 18407]
4. 4 [Option ID = 18408]

80)
Sequence the administrative works of Dalhousie in a chronological order;

A, The permanent headquarter of the Army was gradually shifted to Shimla,

B. Educaticnal suggestions of Charles Wood is also known as Wood's Despatch.

C. Setting up af the first three universities of India i.e. Calcutta, Bombay and Madras.
D. Railway minutes:of Dalhousie which become the basis of Railway in Indla.
Choose the correct answer from the options given below

1.C,0, B A
2ZABCD
3.BDAC
40 BCA

SARIE & WETEHS S 6] BIaeE 4 HHEE Bl ;

A, T & R gEed &1 9k - R R wEia 1 e

8. I 48 & e/ Y19 B! 98 B (971G (Woed's Dispatch) @ =1 o Hi ST =1l 5|
C. HRd & WuH o faufaered! @ wToHI, Sodl, s d a6 | 3] 5|

D. SRS P {6d (9630 (Minutes) ST HRA H 3774 $ (98K 1 AR a4

Fe fgu T Aol B W S O ;

1.C,0,B A
2ABCD
3.8,D.AC
4D 8 CA



[Question ID = 4603][Question Description = 180_50_INC_SEP22_S2_Q80]
1. 1 [Option ID = 18409]
2. 2 [Option ID = 18410]
3. 3 [Option ID = 18411]
4. 4 [Option ID = 18412]

81)
Sequence the rulers of Maitrak dynasty of Valabhi in a chronological erder;

A, Bhattarak

B, Dharpatt

C. Guhasens

D. Shiladitya first

Choose the correct answer from the options given below

1.ABDC
24 CEBED
3.BACD
4 ABCD

goHl & A 43 @] MED] 5| BIIBATITR FHES 51 -
A, HER®

B. ¥RUZ

C. e

D. fRremice wuA

74 T4 1 faed] 5 8 98l SR 9 ;

1.A,BDC
2ACBD
3.B,ACD
4 A B CD

[Question ID = 4604][Question Description = 181_50_INC_SEP22_S2_Q81]
1. 1 [Option ID = 18413]
2. 2 [Option ID = 18414]
3. 3 [Option ID = 18415]
4. 4 [Option ID = 18416]



82)
Sequence the following Avataras of Vishnu in a chronological order;

A, Vamanavatar

B. Narsimhavatar

C. Varahavatar

D. Parashuramiavatar

Cheose the correct answer from the options given below

1.ABCD
20B.CA
3.CBAD
4 CEBDA

fow] & FERifad eearl @ FEHEN 989G o1
A, FETEAR

B. TRIGEEaR
C. SIBIEaR

D. IRERTEETR
I umu faead 5 € O I 9 -

1.ABCD
20,B,CA
3.CBAD
4 CBD A

[Question ID = 4605][Question Description = 182_50_INC_SEP22_S2_Q82]
1 [Option ID = 18417]
2 [Option ID = 18418]
3 [Option ID = 18419]
4 [Option ID = 18420]

A w N =

83)
Sequence the following incidents in a chronelogical order:

A, Description of India in "Nuh Sepehr”,

B. Compilation of the first Indian dictionary of Persian language.
C. Persian translation of "Mahabharata”,

D. The compesition of "Samudra-Sangam”,

Cheose the correct answer from the options given below

1.4 D CE
204 CE
3.0,B.AC
4 48 B8 CD



g 92713 3] DOPAHER THaG 1
A, T 7 HRd quiA

B. BIRAT HIYT & Ugdl YR G Yead 9l & Uda]
C. FETHRA &1 BRu! #aK

D. THz - ©TH & 3541

7 74U T fadbed] 5 & Wel S7R 4 ;

1.4, D/CE
20,4/ CEB
3.0,B,AC
4A8CD

[Question ID = 4606][Question Description = 183_50_INC_SEP22_S2_Q83]
1. 1 [Option ID = 18421]
2. 2 [Option ID = 18422]
3. 3 [Option ID = 18423]
4. 4 [Option ID = 18424]

84)
Sequence the works of Alberuni in a chronolegical order:

A Alberuni learnt Sanskrit language.

B. He visited North India.

C. He travelled Dwarka,

D. He wrote a book Melal-Hind about India,

Choose the correct answer from the options given below

1.B,C A D
2ZABCD
3.BACD
4 CBAD

HTEE] & Bl DI BIABHTIR HHIS BT :

A, HTSEAH] - Tepd UTaT Frdi|

B. TR HIRd &1 Y0 fepaT |

C, - GRS B! T7 3

D. ¥Rd & 98 § T - e 97 31 397 WA B
e fou T faded! & & R Sw A -

1.8, CAD
2ABCD
3.8B,ACD
4CBAD



[Question ID = 4607][Question Description = 184_50_INC_SEP22_S2_Q84]
1. 1 [Option ID = 18425]
2. 2 [Option ID = 18426]
3. 3 [Option ID = 18427]
4. 4 [Option ID = 18428]

85)
Arrange the following statemenis related to agriculture in British rule in correct order:

A, Permanent settlement system was implemented in Bengal, Bihar, Cdisha, Banaras division,
Nerthern Karnataka.

B. Mahalavari system was implemented in main areas of Northern Province, Central Province,
areas of Punjab.

C. Agriculture movement of Deccan.
D. The British rule of East India company considerad India a5 a huge estate.
Choose the correct answer from the options given below

1.0,B.A C
2ABCD
3.D,ABC
448D C

Sl RS H DY 4 atd Refied Sy 31 W6l B9 H

A, T deias o0aw] T, [SeR, S, §RY [Saie, St @-ies 4 anl @i Tel
8. FETCTaN] awT Sudl Wil & W &3, Aeavia, Uee & &3 § an @l |

C. SaP & P HalerH |

D. 3% EfEar Ut @ ST UET F YR B UF fa9ne e} 95|

Tefr G F R W S T :

1.0,B. A C
2ABCD
3.0,A,B,C
44 B0D0C

[Question ID = 4608][Question Description = 185_50_INC_SEP22_S2_Q85]
1 [Option ID = 18429]
2 [Option ID = 18430]
3 [Option ID = 18431]
4 [Option ID = 18432]

A w N =



86)
Given below are two statements

Statement |: Medieval astronomers wrote 'Zij',
Statement II: Raja Sawai Jai Singh wrote "Zij Muhammad Shahi”,
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2, Both Statement | and Statemenit 1l are false
3, Statement | is true but Statement Il is-false
4, Statement | is false but Statement [l is true

da e Rume:

BYF - | ; HEDIRI @I aFi-iep] - Torer fer|

YA - 1) : T Tals 99 fhe 5 e gemeaE il
Jutad YA & eis | FEead el H 8 Hel 9 g ;

1. @Y | 3R 1 G TG 8

2. YT | R || §F1 AT 2

3, PYT | 9 B, g &Y 11 3EE B
4 ®YF | AEA B, (g HYF 1 9 gl

[Question ID = 4609][Question Description = 186_50_INC_SEP22_S2_Q86]
1 [Option ID = 18433]
2 [Option ID = 18434]
3 [Option ID = 18435]
4 [Option ID = 18436]

A wWw N =

87)
Given below are two statements; one is labelled as Assertion A and the other is labzalled

a2s Reason R
Assertion A: Kharoshthi script was written from right to left.
Reason R: This script came from West Asia,

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are frue but R is NOT the carrect explanation of A
3, Ais true but R is false

4 A is false but Ris true



Ty RUN e 0o o i@y (4) 3R G0 @ BRI (R) Fel Mol
BT (a)  TRWT Tl o & 9 S fordt sl o)
T (R) ; TE Tard Uiem o | omg 9|
o DY & A 4 FHihd e § ° Uel v g
1. (A) 3R (R) S W1 § IR (R), (A) P Gl TR 81
2. (A) AR (R) SFT W81 € U3 (R), (A) T We oIRsT el 5

3.(A) ©E1 8 TR (R) Wl 81 5
4. (A) Hel 98l & W= (R) 9ol 5

[Question ID = 4610][Question Description = 187_50_INC_SEP22_S2_Q87]
1. 1 [Option ID = 18437]
2. 2 [Option ID = 18438]
3. 3 [Option ID = 18439]
4. 4 [Option ID = 18440]

88)
Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R

Assertion A: Sikandar Lodhi was a justice-loving ruler and he helped as well as patronized

scholars,
Reason R: Writers and poets have written Fatefingma and other books in his praise,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

I &l @A GUTU 8 : Us @] @Y (A) 3R gO< & BRYI (R) Hel Ml 8l
A (a) : Fadee ae v iy age v 3k FEF & Sea® ud 9ie@ o
TR (R) ; TS| URH1 H TG@@! R S99 3 Bagad 3R 7 TR Bl
Ut DY & HAdiD H FElid [l 4 U F8l Iw 9

1. (A) 3R (R) G ¥E1 & SR (R), (A) $1 Hel SR 21

2. () 3R (R) ST G61 B TR (R), (A) P el oIReT el B

3. (A) HEl € TR (R) eI 76T B
4 (A) WEI 981 B UG (R) HRI B

[Question ID = 4611][Question Description = 188_50_INC_SEP22_S2_Q88]
1. 1 [Option ID = 18441]
2. 2 [Option ID = 18442]
3. 3 [Option ID = 18443]
4. 4[Option ID = 18444]



89)
Given below are two statements

Statement |: Vedangas were written for the proper realization of meaning of the Vedas.
Statement II: The Nyaya sutras of Gautam is a book on Indian logic,

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2, Bath Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

Fad e RUmE:

YT - | ; TG D TP Y F o S5 1 AT g5

HYF - 1| : oA &) IGYT HR1g dbdaid o d= &

SUUE D! P AT 1 HHead el 7 8 Hel 3w I -

1. BYT | 3R |1 SHT TR B
2. BYF 1 3R || SET T B |
3. @Y | U8l g, fdorg B 11 71994 B
4, YT | 7TE &, T BYH 1 G818

[Question ID = 4612][Question Description = 189_50_INC_SEP22_S2_Q89]
1 [Option ID = 18445]
2 [Option ID = 18446]
3 [Option ID = 18447]
4 [Option ID = 18448]

A w N =

90)
Given below are two statements

Statement |: Ancient Greek and Roman geologists mentioned Indian Ocean, Red Sea and Gulf of
Persia as the Erythraean Sea.

Statement lI: Xuanzang was a geographer who travelled India in the fourth century,
In light of the above statements, choose the correct answer from the options given below

1, Both Statement | and Statement Il are true
2, Both Statement | and Statement |l are false
3, Statement | is true but Statemeni |l is-false
4, Statement | is false but Statement [l is true



HYF - | : U die g U Waiaal 4 YR GeTErR, @d 99 9 BRYE @ el @l Wk
IR (Erythraean Sea) 19 | Ifeaiad fHar gl

BYF - || : HIEIT U@ TaTag o1 fores S Sransd! § YR @1 A $1|
IET S B SIS + I [deed o § Hel 9T I -

1.®YF | SR 1 SF 9§

2. TYF | IR | GFT 2T B

3. PYT | g ©, b U 1| S B
4 @Y | A B, g &Y 1 9d 8

[Question ID = 4613][Question Description = 190_50_INC_SEP22_S2_Q90]
1 [Option ID = 18449]
2 [Option ID = 18450]
3 [Option ID = 18451]
4 [Option ID = 18452]

A wN =

Topic:- 050_PARTB_S2

1) Read the below passage and answer the following g uestion

Vedic literature is the basic foundation of Indian culture. There are four Vedas - Rigveda, Yajurveda,
Samaveda and Atharavaveda. Poetic and singable mantras dominate the texts of Rigveda and
Samaveda. Yajurveda has been composed in prose. Atharvaveda is composed in both prose and
poetry. Knowledge of six Vedangas is necessary for the study of the Vedas.

Shiksha is the first Vedanga which is called phonetics. The second Vedanga is Chhand, in which both
vedic meters and classical meters, are described. The third Vedang is grammar. Ashtadhyayi written
by Panini is a famous treatise on this subject. Nirukta is the fourth vedang in which etymology of
vedic words has been expounded. Astronomy has been discussed in detail in the fifth Vedang called
Jyotish. Ritualistic aspects of Vedas have been explained in Kalpasutra, the last Vedang. The study of
these Vedang is of great helps in understanding the Vedic knowledge and Indian culture.

Which Vedas have a prevalence of singable mantras?

1. Rigveda and Atharvaveda
2. Atharvaveda and Samaveda
3. Rigveda and Samaveda

4, Samaveda and Yajurveda



R T wET ¥ @ R U F I
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[Question ID = 4614][Question Description = 191_50_INC_SEP22_S2_Q91]
1. 1 [Option ID = 18453]
2. 2 [Option ID = 18454]
3. 3 [Option ID = 18455]
4. 4 [Option ID = 18456]

2) Read the below passage and answer the following question

Vedic literature is the basic foundation of Indian culture. There are four Vedas - Rigveda. Yajurveda,
Samaveda and Atharavaveda, Poetic and singable mantras dominate the texts of Rigveda and
Samaveda. Yajurveda has been composed in prose. Atharvaveda is composed in both prose and

poetry. Knowledge of six Vedangas is necessary for the study of the Vedas.

Shikshs is the first Vedanga which is called phonetics. The second Vedanga is Chhand. in which both
vedic meters and classical meters, are described. The third Vedang is grammar. Ashtadhyayi written
by Panini is a8 famous treatise on this subject. Nirukta is the fourth vedang in which etymology of
vedic words has been expounded. Astronomy has been discussed in detail in the fifth Vedang called
Jyotish. Ritualistic aspects of Vedas have been explained in Kalpasutra. the last Vedang. The study of

these Vedang is of great helps in understanding the Vedic knowledge and Indian culture.

How many Vedangas ars there?

1. Four
2. Three
3. Five
4. 5ix
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[Question ID = 4615][Question Description = 192_50_INC_SEP22_S2_Q92]
1. 1 [Option ID = 18457]
2. 2 [Option ID = 18458]
3. 3 [Option ID = 18459]
4. 4 [Option ID = 18460]

3) Read the below passage and answer the following question

Vedic literature is the basic foundation of Indian culture. There are four Vedas - Rigveda, Yajurveda,
Samaveda and Atharavaveda. Poetic and singable mantras dominate the texts of Rigveda and
Samaveda. Yajurveda has been composed in prose. Atharvaveda is composed in both prose and
poetry. Knowledge of six Vedangas is necessary for the study of the Vedas.

Shiksha is the first Vedanga which is called phonetics. The second Vedanga is Chhand, in which both
vedic meters and classical meters, are described. The third Vedang is grammar. Ashtadhyayi written
by Panini is a famous treatise on this subject. Nirukta is the fourth vedang in which etymology of
vedic words has been expounded. Astronomy has been discussed in detail in the fifth Vedang called
Jyotish. Ritualistic aspects of Vedas have been explained in Kalpasutra, the last Vedang. The study of
these Vedang is of great helps in understanding the Vedic knowledge and Indian culture.

Which Vedanga is known as Phonetics?

1. Grammar
2. Jyotish

3. Kalpa

4, Shiksha
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[Question ID = 4616][Question Description = 193_50_INC_SEP22_S2_Q93]

AW N =

1 [Option ID = 18461]
2 [Option ID = 18462]
3 [Option ID = 18463]

4 [Option ID = 18464]

4) Read the below passage and answer the following question

Vedic literature is the basic foundation of Indian culture. There are four Vedas - Rigveda, Yajurveda,
Samaveda and Atharavaveda. Poetic and singable mantras dominate the texts of Rigveda and
Samaveda. Yajurveda has been composed in prose. Atharvaveda is composed in both prose and
poetry. Knowledge of six Vedangas is necessary for the study of the Vedas.

Shiksha is the first Vedanga which is called phonetics. The second Vedanga is Chhand, in which both
vedic meters and classical meters, are described. The third Vedang is grammar. Ashtadhyayi written
by Panini is a famous treatise on this subject. Nirukta is the fourth vedang in which etymology of
vedic words has been expounded. Astronomy has been discussed in detail in the fifth Vedang called
Jyotish. Ritualistic aspects of Vedas have been explained in Kalpasutra, the last Vedang. The study of
these Vedang is of great helps in understanding the Vedic knowledge and Indian culture.

Which Vedanga is useful for Vedic etymology?

1. Nirukta
2. Grammar

3. Kalpa sutra
4. Shiksha
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[Question ID = 4617][Question Description = 194_50_INC_SEP22_S2_Q94]
1 [Option ID = 18465]
. 2 [Option ID = 18466]
3 [Option ID = 18467]
4 [Option ID = 18468]

D wN =

5) Read the below passage and answer the following guestion

Vedic literature is the basic foundation of Indian culture, There are four Vedas - Rigveda, Yajurveda,
Samaveda and Atharavaveda. Poetic and singable mantras dominate the texts of Rigveda and
Samaveda. Yajurveda has been composed in prose. Atharvaveda is composed in both prose and

poetry. Knowledge of six Vedangas is necessary for the study of the Vedas.

Shiksha is the first Vedanga which is called phonetics. The second Vedanga is Chhand, in which both
vedic meters and classical meters, are described. The third Vedang is grammar. Ashtadhyayi written
by Panini is a famous treatise on this subject. Nirukta is the fourth vedang in which etymology of
vedic words has been expounded. Astronomy has been discussed in detail in the fifth Vedang called
Jyotish. Ritualistic aspects of Vedas have been explained in Kalpasutra, the last Vedang. The study of

these Vedang is of great helps in understanding the Vedic knowledge and Indian culture.

Which Vedanga has discussed astronomy?

1. Shiksha
2. Jyotish

3. Grammar
4. Kalpa
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[Question ID = 4618][Question Description = 195_50_INC_SEP22_S2_Q95]
1 [Option ID = 18469]
2 [Option ID = 18470]
3 [Option ID = 18471]
4 [Option ID = 18472]

AW N =

Topic:- 050_PARTC_S2

1) Read the below passage and answer the following question

The Gupta period is regarded as the golden age of ancient India. The inscriptions and coins play a
major role in re-writing this period. Samudragupta and Chandragupta-ll were patrons art and
literature. Samudragupta is shown playing the Veena in the * Veenadhari coins' . There were
Navratnas in the royal court of Chandragupta-ll. A. S. Altekar has published the coins of Gupta
period discovered in Bayana in the form of a catalogue. The progress of sculpture and temples in
the Gupta period is well reflected from the discovered stone sculptures, terracotta’s and
architectural remains. The Sanskrit literature of the Gupta period reflects the outstanding
aestheticism. Bhasa, Kalidasa were the main poets of this period. The progress of metal sculpture
was at its peak during this period, which is established by the 6 feet tall Buddha idol discovered in
Sultanganj. The progress in the fields of Astronomy, Mathematics and Medical Science is indicative
of the development of science and technology during this period.

What is the name of the catalogue on the Bayana hoard by A. S. Altekar?

1. "Catalogue of the Gupta Gold Coins in the Bayana Hoard"
2. "Gupta Bayana Hoard Coins”

3. "Hoard of the Gupta Coins from Bayana"

4, "Catalogue of Gupta Coins”
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[Question ID = 4619][Question Description = 196_50_INC_SEP22_S2_Q96]
1 [Option ID = 18473]
2 [Option ID = 18474]
3 [Option ID = 18475]
4 [Option ID = 18476]

A w N =

2) Read the below passage and answer the following question

The Gupta period is regarded as the golden age of ancient India. The inscriptions and coins play a
major role in re-writing this period. Samudragupta and Chandragupta-ll were patrons art and
literature. Samudragupta is shown playing the Veena in the * Veenadhari coins’ . There were
Navratnas in the royal court of Chandragupta-ll. A. S. Altekar has published the coins of Gupta
period discovered in Bayana in the form of a catalogue. The progress of sculpture and temples in
the Gupta period is well reflected from the discovered stone sculptures, terracotta’s and
architectural remains. The Sanskrit literature of the Gupta period reflects the outstanding
aestheticism. Bhasa, Kalidasa were the main poets of this period. The progress of metal sculpture
was at its peak during this period, which is established by the 6 feet tall Buddha idol discovered in
Sultanganj. The progress in the fields of Astronomy, Mathematics and Medical Science is indicative

of the development of science and technology during this period.

Sultanganj mentioned in the para, where a 6 feet tall metal idol was discovered, is situated in
which state?

1. Jharkhand

2. Uttar Pradesh
3. Bihar

4. West Bengal
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[Question ID = 4620][Question Description = 197_50_INC_SEP22_S2_Q97]
1 [Option ID = 18477]
2 [Option ID = 18478]
3 [Option ID = 18479]
4 [Option ID = 18480]

AN wpN =

3) Read the below passage and answer the following question

The Gupta period is regarded as the golden age of ancient India. The inscriptions and coins play a
major role in re-writing this pericd. Samudragupta and Chandragupta-ll were patrons art and
literature, Samudragupta is shown playing the Veena in the ° Veenadhari coins' . There were
Navratnas in the royal court of Chandragupta-ll. A. S. Altekar has published the coins of Gupta
period discovered in Bayana in the form of a catalogue. The progress of sculpture and temples in
the Gupta period is well reflected from the discovered stone sculptures, terracotta’s and

architectural remains. The Sanskrit literature of the Gupta period reflects the outstanding

aestheticism. Bhasa, Kalidasa were the main poets of this period. The progress of metal sculpture
was at its peak during this period, which is established by the 6 feet tall Buddha idol discovered in
Sultanganj. The progress in the fields of Astronomy, Mathematics and Medical Science is indicative
of the development of science and technology during this period.

Who among the following was in the court of Chandragupta-lI?

1. Ashwaghosh
2. Kalidasa

3. Banabhatt
4, Ravikitri



R s eEr I R AR Ty F I S

TE@TE WdiH HRA @1 WU BId 3191 A1d1 8| $9BE @ Haed J sfycal @ faas! @1 5gdl uiEe
2 T W aW fad oo wd wifew & duive ¥ donyr) et § wasra &1 don |k
e T B, S0 iy & UeieREr # Aad 4 9 8 WIS aeTdH fSam! 8 TOE, Hedd A
Feam 0§ UHe fem 81 Tae # giie ud wuaen et § uiefda g g
TS S5pd iied g Jlaoa 3o diedaly 3 TeRid $3d &1 YE 7 Sivey 39 &1d & 58
&fa 41 g Ffiea 1 o™ 38 F19 § A | U 9 [$ gemra 9 ud 6 Bie @1 disqgd 9
W g &1 @i g, TIiorg 9 Shef¥ fage & &7 F wifa dapreiy faem ud aefat fasm &1
I 2l

TG i e EaR A g sH U ?

1. YT
2. Prae™

3. T
4. fawifa

[Question ID = 4621][Question Description = 198_50_INC_SEP22_S2_Q98]
1 [Option ID = 18481]
2 [Option ID = 18482]
3 [Option ID = 18483]
4 [Option ID = 18484]

A wWw N =

4) Read the below passage and answer the following question

The Gupta period is regarded as the golden age of ancient India. The inscriptions and coins play a
major role in re-writing this period. Samudragupta and Chandragupta-Il were patrons art and
literature. Samudragupta is shown playing the Veena in the * Veenadhari coins' . There were
Navratnas in the royal court of Chandragupta-ll. A. S. Altekar has published the coins of Gupta
period discovered in Bayana in the form of a catalogue. The progress of sculpture and temples in
the Gupta period is well reflected from the discovered stone sculptures, terracotta’s and
architectural remains. The Sanskrit literature of the Gupta period reflects the outstanding
aestheticism. Bhasa, Kalidasa were the main poets of this period. The progress of metal sculpture
was at its peak during this period, which is established by the 6 feet tall Buddha idol discovered in
Sultanganj. The progress in the fields of Astronomy, Mathematics and Medical Science is indicative
of the development of science and technology during this period.

Which Goddess is depicted on the "Veenadhari' type coins of Samudragupta?

1. Lakshmi

2. Saraswati

3. Mahishasurmardini
4. Varahi
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[Question ID = 4622][Question Description = 199_50_INC_SEP22_S2_Q99]
1. 1 [Option ID = 18485]
2. 2 [Option ID = 18486]
3. 3 [Option ID = 18487]
4. 4 [Option ID = 18488]

5) Read the below passage and answer the following question

The Gupta period is regarded as the golden age of ancient India. The inscriptions and coins play a
major role in re-writing this period. Samudragupta and Chandragupta-ll were patrons art and
literature. Samudragupta is shown playing the Veena in the ' Veenadhari coins’ . There were
Navratnas in the royal court of Chandragupta-ll. A. S. Altekar has published the coins of Gupta
period discovered in Bayana in the form of a catalogue. The progress of sculpture and temples in
the Gupta period is well reflected from the discovered stone sculptures, terracotta’s and
architectural remains. The Sanskrit literature of the Gupta period reflects the outstanding
aestheticism. Bhasa, Kalidasa were the main poets of this period. The progress of metal sculpture
was at its peak during this period, which is established by the 6 feet tall Buddha idol discovered in
Sultanganj. The progress in the fields of Astronomy, Mathematics and Medical Science is indicative
of the development of science and technology during this period.

Which of the following is a work of Bhasa?

1. Swapanvasvadattam
2. Uttarramacharitam
3. Raghuvansham

4, Buddhacharitam
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[Question ID = 4623][Question Description = 200_50_INC_SEP22_S2_Q100]
1 [Option ID = 18489]
2 [Option ID = 18490]
3 [Option ID = 18491]
4 [Option ID = 18492]

A WN =

Topic:- 22 GP_29SEPT22_SH1_S2_A

1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vi Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 554H

2015 75 144 114 102 108
2016 20 126 102 24 126
2017 96 114 75 185 135
2018 105 80 150 a0 75
2012 S0 7a 135 75 &0
2020 105 &0 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 55AH batteries in 2021 compared to that
in 20157

1.28 %
2231 %
.33 %
4,34 %
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AUTH | 700 3200|350 0T | 5500

2015 75 144 114 102 108
2016 a0 126 102 g4 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 105 a0 165 45 120
2021 115 85 160 100 145

2015 @I gorl H 2021 3 55 U9 syl & fadl J ey viosd gls w4 2
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1.28 %
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3.33
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[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]
4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH
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A4TUUd | 7UULd | 3200 | 35U UG | 550 UH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 125 75 90
2020 | 105 | 80 165 45 120
2021 | 115 | 85 160 100 145
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[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]
3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AH TAH 32AH 354AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 a4 126
2017 |96 114 75 105 135
2018 105 20 150 90 75
2019 |90 75 133 75 20
2020 |105 B0 165 45 120
2021 115 85 160 100 145

What is the difference in the number of 354H batteriessold in 2016 and 20207

1.24000
2..28000
3. 35000
4. 38000
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4T | 7UUH | 3280 | 35T UG | 550 TH

2015 | 75 144 | 1314 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 80 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4. 38000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]
2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]



4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AAH TAH 32AH 35AH 55AH

20815 |75 144 114 102 108
2016 (80 126 102 24 126
2017 96 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 30
2020 [105 60 165 45 120
2021|115 85 160 100 145

The percentage of 4AH batieries sold in a given year to the total number of batteries sold in that same
year was maximum in the year:

1..2007
2.2018
3.2018
4, 2020

fFafafaa aifter # 9 2015 ¥ 2021 9@ & ERE TS Al gRT fawt o 715 fAfis yor ot acial
@R H) T fawt - s fer U §1 59 aifere & Siesi & YR R Ui wall & Swx 4T

=il @t ad - ar fawl
o %1 ®1 15 92l © WO (B9R 1)
AU |70 (3200|350 0T | 5500
2015 75 144 114 102 108
2016 | 90 | 126 | 102 84 126
2017 Go 114 75 105 135
2018 | 105 | 90 150 90 75
2019 =] 75 135 P ao
2020 105 a0 165 45 120
2021 115 85 160 100 145

il feu T o & 92t o) 9wl &) oo 9 & 91y 94l 9d § T @ 7 4 U ug SR @ ufowa g
T Hfw a7 7

1,2817
2,2018
3.201¢
4, 2020

[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]



5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1.448H
2. TAH
3.32AH
4. 35AH

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

- ] &1 715 Scidl & UK (89K 1)
4UEd | 7UUd |3200d (350 TH | 55U LA

2015 | 75 | 144 | 114 102 108
2016 | %0 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

a8 2015 ¥ 2020 1@ 69 UEHR B 93] D [9eb] H F¥ay FRige g4t 7

1.40Ud
2.70Td
3.320UG
4.35U00g

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]



3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learing
more personalised and customised, as per reguirements of the learners?

1. NEAT
2, NEET
3, SWAYAM
4 SWAYAN PRABHA

e HaTeE, YRG TIPR 3] B O dioF Tl B HEEeaIH & SgaR HWE 5] Hie dditas
S el s & & o BiH SfgH 1 Wi &l 8 7

.S LA

255

3, TEHH [SWAYAM )

4 IGUH UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]

2)
Upon completion of academic programmes (Graduation), what outcomes should the students have
attained?

1. Programme Education Objectives/ Programme outcomes
2. Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomes

H@IGIHS B (Wiad) & W e 0, [genieial of @7 uRemE urd giH =i ?

1. BRIHE 8T 3539 / BIUHE UNomH
2,918 giomE

3. 913 gRum

4, gy S uions

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]



3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking questions can create curiosity and develop passion for learning.
In light of the above statements, choose the most appropriate answer from the options given below

1. Beth A and R are correct and R is the correct explanation of A

2, Both A and R are carrect but R is NOT the correct explanation of A
3, A'is correct but R is not correct

4, A is not correct but R is correct

el @ RU g to of iy (A) IR g0 & ®RY (R) FET M@ ¢
A (a) : et =1 Al o1 v gg & o uieifed &< 9ifeul
@R (R) ; 0% OB 9 (o9 g il & SR {9 o o 3 [9e19d eidl 8
ST BYF| & TS & Hiied aeed 3 4 98 9w g ;

1. (A) 3R (R) G ¥E1 & SR (R), (A) $1 Hel SR 21

2, (A) 3R (R) T T8I & TR (R), (A) P He o0 81 6

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]

4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]



5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,

Ju5 LD PO -

. Upto 30% or 3 minutes, whichever is less,

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

10% @, 47 3 e S i ea gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect

wa fodl 2y @ Tqudl & asR o uitacy 91 YUR WANTES I Ue| H URGa- & R0 961 &idl &, al 34
el Sl & -

1. 51aYH TUIE
FRCE RG]

3, fheR T1e
4, HRUAGR WHId

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]



7)
The advantages of research based on field experiments are:

A. Astrong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEonly

& TERTl OR SR DY & A E -
A, T g §1al 9yl |
8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l
D. UHiH® Hiws| @l go- |
E, forga HR-0F @1 Saxgedl T8l eidl|
i fou e fawed! & @ 8 oW A -
1. a0 A, B AR C
2, &9d B, C MR D

3. HaAC, D ARE
4 Had A C3IRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]

8)
Hypothesis, that is alternative to null hypothesis, is represented as

1. Hg
2.Hy
3, Han
4 H.p



gitee, Sl Y g el o] famed o, @] GXI9 9l &

1. Hg
2.Hy
3, Han
4, Hii‘J

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1 [Option ID = 17541]
2 [Option ID = 17542]
3 [Option ID = 17543]
4 [Option ID = 17544]

A w N =

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracts and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T & 7

1, Ui 31 Ty Y TR oY 91 AlgediR

2. SEeY foed e theel $ SR W dsvied &
3, 719 3R 9o & fawume o fog i

4, Field® R $ 9 B3 ael QiFeaty

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1 [Option ID = 17545]
2 [Option ID = 17546]
3 [Option ID = 17547]
4 [Option ID = 17548]

A w N =

10)
The Social Science research which is data-based, has been associated with

. Authoritarian mode
. Positivist philosophy
. Network theory

S % 5 I L W

. Phehemenology

gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, Teggeq) fagm

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =



11)
The modern-communication revolutien is propelled by

1. Cold war propaganda

2, International commerce

3, Technological convergence
4, Change in political systems

YD GG Hifd aHs gRI AN & 7
1. 9019 4 @1 Uigirsl
2, 3iTRIBTY Frivrsd

3, e g HEm
4, IeTcE gone | 9igas

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learming

C. Minimal assessment

D. Interaction between teachers and students

E. Teacher-centric behaviour

Choose the correct answer from the options given below;

1.4, B and Canly
2.8, C, DandE only
3,C, Dand E only
4 A Band D only



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | W) &, g @y I Taa Bl
4, YT 1 T4 & , fooq ®YA 1| GEl B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2,0.002
3.0.02
4,0.00002

W4 0,07 @ 350 ° YT fohar Sa i &91 5 Ui g 7

1..0.0002
2.0.002
3.0.02
4,0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4 [Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth
person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

4,98, Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

AW N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly
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1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
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[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4 [Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %
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1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

A w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
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|
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1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l
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[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga
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1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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